
.esExercise 1: Answer by true or false. Correct the false on 

1)The Voltage across an open switch is zero. 

2)There is only one type of connection which is parallel connection. 

3)If two lamps are connected in series, then they have same voltage. 

4)Law of uniqueness of voltage is applied in series connection.  

5)The voltage across a connection wire is equal to the voltage of the 
generator.  

 

, two d of a battery, a closed switchExercise 2: A circuit is compose
lamps and a connection wire. these two lamps are connected in series. 

and the voltage across lamp (2)  𝑼𝟏 = 𝟕𝑽 the voltage across lamp (1) is
.𝑼𝟐 = 𝟐𝑽 is  

1)Draw the circuit. 

2) Is this circuit a closed circuit or an opened circuit? Justify 

3)The voltage across the switch is 0V. Justify 

4)Calculate the voltage across the battery. (Don't forget to name the 
law)  

  

A circuit is composed of a battery, two lamps and a  Exercise 3:
connection wire. These two lamps are connected in series. The voltage 

. 𝑼𝟐 = 𝟗𝑽 across lamp (2) is  

1)Draw the circuit. 

2)Calculate the voltage 𝑈ீ 𝑎𝑐𝑟𝑜𝑠𝑠 𝑡ℎ𝑒 𝑏𝑎𝑡𝑡𝑒𝑟𝑦 𝑎𝑛𝑑 𝑈ଵ 𝑎𝑐𝑟𝑜𝑠𝑠 𝑙𝑎𝑚𝑝(1)  
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